Grade 10 Essentials Math
Week 2 Quiz

Debrief
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Did an hour of practice!!!!
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Quiz every Thursday!

Alternate chance is the
Friday!

| have been known if genuinely
stuck at home, to send the quiz,
on request, for timely completion




GRADE 10 ESSENTIAL
Name:

J
QUIZ 230914 mﬂ_ Bt

Show work for best mark.

Each individual question is worth one mark.

WP-E:JDR Use your cheat sheet (Reference Notes) or use mine (for now).
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. Chantal worked the following hours last week:
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Her regular rate of pay is $14.25 / hour. She gets overtime rate of pay of ‘time
and half” (one and a half) times her regular pay after 8 hours in any day.

Determine Chantal’s Gross Pay. % 14, 2.5’ 3¢ = S"H so
o/T (1435741, $)*'8 = 1%«
3la.50
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UNIT B - PERSONAL FINANCE G b,;l: l
GROSS Income: All Income. Bi-Weekly = every two weeks \l.E. %ou\r “
NET INCOME: Income after deductions wa

NET = GROSS = (Income Taxes + CPP contributions + El Contributions + Other Deductions)
To calculate income taxes:

Taxable income = Gross - (Company Pension Contribution + RRSP Contribution + Union Dues Paid)

Income tax(es) = tax rate(s) * Taxable income
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2. Nicole worked 46 hours over the Christmas holidays. Her regular rate of
pay 1s $17.00 per hour ($17 / hr). Because it is Christmas, she gets overtime pay
Ihe regular rate of pay after 40 hours in a work week.

a. Determine Nichol’s gross pay for those 46 hours.
R%PAQ: g)% "fok’-: $égo
O/T Pusy 2 3134 -2 ~Chv =

b. Nichol has asked her boss to send $25/ week (each pa
personal Registered Retirement Savings Plan (RRSP) at her ban

money contributed to the plan is not taxed. Determine her Taxable
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¢. If Nichol 1s 1n a 22% “tax bracket’ (her combined taxes, Federal and
Provincial) how much does she pay in income taxes?

859 - a%b-- 194 98 7 AxES



3. Arithmetic. YM Qre_« | IOWCOL

Multiply: Show work (no calculator,, —— l
you may use times tables for now) ‘LO Wse o~ ml cu "'td..
But Nnowing how €0 do
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Bonus(es): (One bonus mark each question)

1. Problem Solve:
The Sum of two numbers 1s 16
Their difference 1s 4.
-2 Determine the two numbegs:

Calculate their Product: ‘




2. Problem Solve. How many different ways can Christina play each of her
three favourite songs once in some order on her [Pod?
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3. Calculate 6.9% of 1200.
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That was a very quick quiz
debrief for Week 2.

Quiz EVERY Thursday — Lest chance is

~the I:ri..ukag_
Do not miss too many
quizzes!
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